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QUESTION 1

You made some table definition changes to a schema in your MySQL Server.

Which two statements reflect how MySQL Server handles the table definition changes? (Choose two.)
A. MySQL writes SDI to the binary log for distributed backups.

B. MySQL keeps InnoDB metadata changes in .sdi files in datadir.

C. The metadata is serialized in JSON format in Serialized Dictionary Information (SDI).

D. MySQL Server stores a copy of the serialized data in the InnoDB user tablespace.

E. MySQL implicitly executes FLUSH TABLES and stores a snapshot backup of the metadata.

Correct Answer: CD

QUESTION 2

How can mysql_multi be configured to allow MySQL instances to use the same port number?
A. The instances use different user accounts unique to each instance.

B. The instances listen on different IP addresses.

C. The instances use different socket names.

D. The instances have appropriate net masks set.

Correct Answer: B

QUESTION 3

The data in this instance is transient; no backup or replication will be required. It is currently under performing.
The database size is static and including indexes is 19G.

Total system memory is 32G.

After profiling the system, you highlight these MySQL status and global variables:

Latest 120-908 Dumps | 120-908 VCE Dumps | 1Z0-908 Exam Questions


https://www.passapply.com/1z0-908.html
https://www.passapply.com/1z0-908.html
https://www.passapply.com/1z0-908.html

VCE & PDF https://www.passapply.com/1z0-908.html
2024 Latest passapply 120-908 PDF and VCE dumps Download
PassApply.com

Com rollback | B540B355 |
Com commit | 1242342 |
Innodb buffer pool pages free | 163840 |
[my=gld]

buffer pool size=206
innodb flush log at trx commit=2
disable-log-bin
The OS metrics indicate that disk is a bottleneck. Other variables retain their default values.
Which three changes will provide the most benefit to the instance? (Choose three.)
A. innodb_flush_log_at_trx_commit=1
B. buffer_pool_size=24G
C. innodb_log_file_size=1G
D. sync_binlog=0
E. innodb_doublewrite=0
F. max_connections=10000
G. innodb_undo_directory=/dev/shm

Correct Answer: ACF

Reference: https://aws.amazon.com/blogs/database/best-practices-for-configuring- parameters-for-amazon- rds-for-
mysql-part-1-parameters-related-to-performance/

QUESTION 4

Which two are true about binary logs used in asynchronous replication? (Choose two.)
A. They are pushed from the master to the slave.

B. They contain events that describe database changes on the master.

C. They contain events that describe all queries run on the master.

D. They contain events that describe only administrative commands run on the master.
E. They are pulled from the master to the slave.

Correct Answer: AB

Reference: https://www.oracle.com/technetwork/community/developer-day/mysql- replication-presentation- 485890.pdf
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QUESTION 5

Examine this MySQL client command to connect to a remote database:
mysgl -h remote.example.org -u root -p --protocol=TCP --ssl-mode=
Which two --ssl-mode values will ensure that an X.509-compliant certificate will be used to establish the
SSL/TLS connection to MySQL?

A. REQUIRED

B. VERIFY_CA

C. VERIFY_IDENTITY

D. PREFERRED

E. DISABLED

Correct Answer: BC

Explanation: https://dev.mysql.com/doc/refman/5.7/en/using-encrypted-connections.html
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